EARAROBEEIERT — 2 N— IBISH —F

201210818 (A) 14E&&ERE1H

mﬂﬁ 354 5 ¥5R3K EEDE T
[A&4]1%:210,00F ~ 23#%:3800MH ~ 3#&:1500MH  4#%:10,000H / 5&%:0M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
L —p— 29, 4o 6| — PEEE— (1)
lalg| T-v>7a-21 3 s 1(2_9)2 4-4-2-2 | 39.6 1 (4+651) (e A
X THANAN B:Fv=FH— ESiie]
O . p© FEBHE :30. —1-1- . = BEEEE (BHE)
2 6| NX/HZNL it 3 ;‘_0 1(340)1 1-1-1-1 | 40.7 7 (4_061) ir\m;
L:va4xIteL I B:TS5A4T7H4 TR BLEMS
4 3 | AUR— 1:30.2 5-5-5-4 | 40.2| — 4 M6 | SiEMBZ (BEHE)
3 3| 7A by UTR 4¢55.0 (1/2) 1) | (B J PN
oA hk—L B AR v IVT—IL R MHEB RS
7Y — — 4 3 | EHEA 1:30.7 10-9-8-5 [39.9| — 5 464 | SREBEX (BHE)
4 2| N\ hFTI= el 21/2) (-p) |ERBHE
R:HLSIN—b B:3=Z—Fv> 2B FC
i i t 3 | BRAE 1:30.7 2-3-3-3 |41.1| — 2 497 | HBEZEME (BEHE)
5810 71 7%a—7 54.0 5% T
R:T7H T I BYaInvLY [si=rie ]
= 4 3 | 1R 1:30.9 7-8-7-7 | 40.2| — 6 443 | ETIB—2 (BHE)
6177 7]'\'77’I"t—)|/ 54.0 (1 1/2) (+3) HETEF
Rl A bk—b BRI H T — FhHh)Tr—14
i — — KA = : -6-6- — SRy (BHE)
M| TFERF T LR LI I [t IR P e | B
IT7IN=K B:Yal-—-/I HET77—L4
9 R B 3 | SHEKX 1:31.3 8-10-9-9 |40.3| — 8 456 | SEBE (BHE)
8155 FGAVERZT B 54.0E~ (1 1/2) +1) (B) x"—2457
Ry TELRAVF— BT RIAT—H— — B RS
< NI EHEKRE :31. 24— . — EEER (554)
9178 XY« RAT i3 54.0 1(13/12;1 Seas | 416 8 2324) HHEE— :
R:T7oBXT749 97748 B:T7)—2RA KiEH S
S 3 : 4 3 | RIBAER 1:31.8 6-7-10-10 | 40.6 | — 10 | 452 | REA— (BEHE)
100111|3¥/2x>—FK 5.0 %) ) | (B A=24T
R:TFvI8%I—F BH—FI TS BILEYS
® 1—F—@EBIERL
1T=7r= 6,10,8,9,3,1,7,5,4,2
2a=5F= 6,8,10,9,3,4,1,7,2,5
Ja=5= 6,9,10,8,3,4,7,2,5,1
40—F— 6,9,10,3,2,4,7,8,5,1
[ N5
B 9 130M4 714K 6-9 3,030 e E 6-8 1,4708 JEE 3-6-9 10,060
B B 9 110 3-9 280M B = 6-9 3,660M EE 9-6-3 61,430
6 500/ 3-6 6,580 B H 9-6 7,250M
8 310H

ABICOVWTRDTEEERROODE. TR LIV,




